

Centre Details

- For our website, please click here.
- For our examination venue address, please click here.
- For registration and payment, please click here.
- After you have completed the online payment, please send us a scan of the candidate's valid passport photo page by email before the registration deadlines.

Important Information

Examination Availability

- Our centre can only operate the examinations listed below.
- Examinations that consist of speaking components, practical modules and coursework cannot be operated at our centre.

Cash-in

- Cash-in ties all required units together to receive an overall grade and a final certificate for IAL (International AS & A Level) and Modular IGCSE. Without a cash-in code, candidates only get a Statement of Results.
- If you wish to cash in to receive an overall grade and a final certificate, please provide your previous Statement(s) of Results for eligibility check. Once your cash-in eligibility is verified, the requested cash-in code will be made available on our School Registration System for you to register.
- For Pearson Edexcel Information Manual for cash-in codes and required units, please click here.

Cash-in Rules

- Candidate must always use the same UCI (Unique Candidate Identifier) when registering to take Pearson Edexcel examinations
- Cash-in code must be entered with at least one required International AS / A level examination unit. For Modular IGCSE, enter only after all required units are entered.
- Separate International AS & A Level certificates are possible if units for both levels are taken in the same series
- Cash-in is free during our normal registration period. Late cash-in fee applies after the normal registration deadline. Cash-in codes cannot be a standalone registration.
- Cash-in for previous series or after results is regarded as late cash-in and late cash-in fee will be applied. Late cash-in fee is non-refundable

Access Arrangements

 Candidate that requires access arrangements must submit medical certificate with assessment results (written in English) issued within the last four years by email together with the above-listed registration documents before the relevant registration deadlines.

Cancellation and Refund

• If you wish to cancel your registration, please refer to the cancellation and refund policy on our website (link).

Examination Timetables

- For IGCSE 'R' Paper examination dates and duration, please click here.
- For International A Level examination dates and duration, please click here.
- The below listed examinations start at **2:00pm** Japan Standard Time. Candidates arrive at 1:30pm.
- If there are any timetable clashes with other International A-Level or IGCSE examinations, you must contact us at least 4 weeks prior to your first examination date for timetable deviation application.

Registration Deadline

Entry Period	Registration Deadline	Late Cash-in Fee	
Normal Entries	13 March 2026	Cash-in is free before this normal	
	17:00 Japan Standard Time	entry deadline	
Low Late Entries	14 April 2026	4,100.00 JPY per International A	
	17:00 Japan Standard Time	Level subject	

Price List

International GCSE 'R' Paper

- For IGCSE syllabus details, please click <u>here</u>.
- Please note that our centre cannot operate Pearson Edexcel O Level and GCSE examinations

Subject Name	Unit Code	Normal Entry Fee (JPY) including tax	Low Late Entry Fee (JPY) including tax	High Late Entry Fee (JPY) including tax
CHEMISTRY (2 PAPERS) (LINEAR)	4CH1R	52,400.00	86,800.00	121,100.00
CHEMISTRY UNIT 1 (MODULAR)	4WCH1R	26,200.00	52,400.00	78,600.00
CHEMISTRY UNIT 2 (MODULAR)	4WCH2R	26,200.00	52,400.00	78,600.00
ENGLISH LANGUAGE B (1 PAPER)	4EB1R	34,400.00	68,800.00	103,200.00
ENGLISH LITERATURE A (2 PAPERS) (LINEAR)	4ET1AR	52,400.00	86,800.00	121,100.00
ENGLISH LITERATURE UNIT 1 (MODULAR)	4WET1R	26,200.00	52,400.00	78,600.00
ENGLISH LITERATURE UNIT 2 (MODULAR)	4WET2R	26,200.00	52,400.00	78,600.00
HISTORY (2 PAPERS) (LINEAR)	4HI1R	52,400.00	86,800.00	121,100.00
HISTORY UNIT 1 (MODULAR)	4WHI1R	26,200.00	52,400.00	78,600.00

HISTORY UNIT 2 (MODULAR)	4WHI2R	26,200.00	52,400.00	78,600.00
MATHEMATICS A (FOUNDATION TIER) (2 PAPERS) (LINEAR)	4MA1FR	52,400.00	86,800.00	121,100.00
MATHEMATICS A (HIGHER TIER) (2 PAPERS) (LINEAR)	4MA1HR	52,400.00	86,800.00	121,100.00
MATHEMATICS A UNIT 1F (FOUNDATION TIER) (MODULAR)	4WM1FR	26,200.00	52,400.00	78,600.00
MATHEMATICS A UNIT 2F (FOUNDATION TIER) (MODULAR)	4WM2FR	26,200.00	52,400.00	78,600.00
MATHEMATICS A UNIT 1H (HIGHER TIER) (MODULAR)	4WM1HR	26,200.00	52,400.00	78,600.00
MATHEMATICS A UNIT 2H (HIGHER TIER) (MODULAR)	4WM2HR	26,200.00	52,400.00	78,600.00
PHYSICS (2 PAPERS) (LINEAR)	4PH1R	52,400.00	86,800.00	121,100.00
PHYSICS UNIT 1 (MODULAR)	4WPH1R	26,200.00	52,400.00	78,600.00
PHYSICS UNIT 2 (MODULAR)	4WPH2R	26,200.00	52,400.00	78,600.00

International AS and A Levels

- For International A Level syllabus details, please click <u>here.</u>
- Examinations with a '*' symbol are examinations scheduled to start at 5:00pm which is outside of our normal operating hours and evening charges 19,030 JPY (tax inclusive) will be applied. Please contact us by <a href="mailto:ema

Subject Name	Unit Code	Normal Entry Fee (JPY)	Low Late Entry Fee (JPY)	High Late Entry Fee (JPY)
		including tax	including tax	including tax
ACCOUNTING 1	WAC11	44,400.00	85,100.00	125,800.00
ACCOUNTING 2	WAC12	44,400.00	85,100.00	125,800.00
* BIOLOGY 1	WBI11	43,030.00	70,030.00	96,930.00
* BIOLOGY 2	WBI12	43,030.00	70,030.00	96,930.00
* BIOLOGY 3	WBI13	43,030.00	70,030.00	96,930.00
* BIOLOGY 4	WBI14	43,030.00	70,030.00	96,930.00
BIOLOGY 5	WBI15	24,000.00	51,000.00	77,900.00
BIOLOGY 6	WBI16	24,000.00	51,000.00	77,900.00

BUSINESS 1	WBS11	30,800.00	61,600.00	92,400.00
BUSINESS 2	WBS12	30,800.00	61,600.00	92,400.00
* CHEMISTRY 1	WCH11	43,030.00	70,030.00	96,930.00
* CHEMISTRY 2	WCH12	43,030.00	70,030.00	96,930.00
CHEMISTRY 3	WCH13	24,000.00	51,000.00	77,900.00
CHEMISTRY 4	WCH14	24,000.00	51,000.00	77,900.00
* CHEMISTRY 5	WCH15	43,030.00	70,030.00	96,930.00
CHEMISTRY 6	WCH16	24,000.00	51,000.00	77,900.00
DEC.MATHEMATICS 1	WDM11	27,000.00	54,000.00	81,000.00
ECONOMICS 2	WEC12	30,800.00	61,600.00	92,400.00
ECONOMICS 3	WEC13	30,800.00	61,600.00	92,400.00
ENGLISH LANGUAGE 2	WEN02	30,800.00	61,600.00	92,400.00
ENGLISH LANGUAGE 3	WEN03	30,800.00	61,600.00	92,400.00
ENGLISH LITERATURE 1	WET01	30,800.00	61,600.00	92,400.00
ENGLISH LITERATURE 2	WET02	30,800.00	61,600.00	92,400.00
ENGLISH LITERATURE 3	WET03	30,800.00	61,600.00	92,400.00
ENGLISH LITERATURE 4	WET04	30,800.00	61,600.00	92,400.00
* FURTHER PURE 1	WFM01	43,030.00	70,030.00	96,930.00
* FURTHER PURE 2	WFM02	43,030.00	70,030.00	96,930.00
* FURTHER PURE 3	WFM03	43,030.00	70,030.00	96,930.00
HISTORY 2 - OPTION 1A	WHI02A	30,800.00	61,600.00	92,400.00
HISTORY 2 - OPTION 1B	WHI02B	30,800.00	61,600.00	92,400.00
HISTORY 2 - OPTION 1C	WHI02C	30,800.00	61,600.00	92,400.00
HISTORY 2 - OPTION 1D	WHI02D	30,800.00	61,600.00	92,400.00
PURE MATHEMATICS 1	WMA11	24,000.00	51,000.00	77,900.00
PURE MATHEMATICS 2	WMA12	24,000.00	51,000.00	77,900.00
PURE MATHEMATICS 3	WMA13	24,000.00	51,000.00	77,900.00
PURE MATHEMATICS 4	WMA14	24,000.00	51,000.00	77,900.00
MECHANICS 1	WME01	24,000.00	51,000.00	77,900.00
* MECHANICS 2	WME02	43,030.00	70,030.00	96,930.00
* MECHANICS 3	WME03	43,030.00	70,030.00	96,930.00
* PHYSICS 1	WPH11	43,030.00	70,030.00	96,930.00
* PHYSICS 2	WPH12	43,030.00	70,030.00	96,930.00
PHYSICS 3	WPH13	24,000.00	51,000.00	77,900.00
PHYSICS 4	WPH14	24,000.00	51,000.00	77,900.00
PHYSICS 5	WPH15	24,000.00	51,000.00	77,900.00
PHYSICS 6	WPH16	24,000.00	51,000.00	77,900.00
PSYCHOLOGY 1	WPS01	30,800.00	61,600.00	92,400.00
PSYCHOLOGY 2	WPS02	30,800.00	61,600.00	92,400.00
STATISTICS 1	WST01	24,000.00	51,000.00	77,900.00
* STATISTICS 2	WST02	43,030.00	70,030.00	96,930.00
* STATISTICS 3	WST03	43,030.00	70,030.00	96,930.00